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424 +10% = 5% 10=
107 = 605 x 103 =
1002 = 1004 =
8 x 1002 = 2% 1002 =
10073 = 5% 1002 =
100D = 7x 1003 =
107 = 367.3+ 100 =
3x 107 = 651.1+ 107D =
625 x 107 = 520.8 x 1001 =
1073 = 6x 102 =
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4% F 3 VxR
424 + 10° = 4.24 5% 10 =50
107 = 0.001 605 x 107 = 0.605
1072 = 0.01 107 = 0.0001
8 x 1072 = 0.08 2% 1072 =0.02
107% = 0.001 5% 1072 =0.05
1077 = 0.1 7% 107 = 0.007
107 = 0.001 367.3 + 1079 = 367300
3 x 107 = 0.0003 651.1 + 107 = 6511
625 x 107 = 0.625 520.8 x 107 = 52,08
107 = 0.001 6 x 10% = 600
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